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7.2 Use the Converse of the Pythagorean Theorem

THEOREM For Your lVateaa ”

THEOREM 7.2 Converse of the Pythagorean Theorem

!
:
It the square of the length of the longest side B |
of a triangle is equal to the sum of the squares |
|
of the lengths of the other two sides, then the . | |
triangle is a right triangle. - ' |
‘8 ‘. ' ‘b .L’ C b A
lTe"=a” + b7, then AABC s aright triangle.
Proof: Ex. 42, p. 446

THEOREM 7.3

If the square of the length of the longest side of a triangle

! A
IS less than the sum of the squares ol the leneths of the L ' C
other two sides, then the wriangle ABCis an acute triangle.
- 4 ‘) ‘) . L C 3 B
¢ <<a” + b7, then the triangle ABC is acute.
——— _

Proof: EX. 40, p. 416

THEOREM 7.4

If the square of the length ol the longest side of @
triangle is greater than the sum ol the squares o! the
lengths of the other two sides, then the triangle ABC is
an obtuse triangle.

If ¢“> a“ + b*, then triangle ABC is obtuse.
——
Proof: EX. 41, p. 446




Ex 3: Can segments with lengths of 4.3 feet, 5.2 feet, and 6.1 feet fer'm [
triangle? If so, would the triangle be acute, right, or obtuse? g

® Trange Inequality Theonm @ Clssfy A:
b check whether posside A K
, c =0*+tb?
4.31'5.‘2.3!0.\ 5.2 +0b.| 34.5 (0.2 (4.2) (5 >
415 > .| .37 4.% 3.2 :’; 15.49 + 27.04
q.3+b,|>? 5.2 571.21 £ 45.53

v
10-4 > 5.2

Ex 4: Cansegments with lengths of 15 inches, 20 inches, and 36 inches form
a triangle? If so, would the triangle be acute, right, or obtuse?
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= CONCEPT SUMMARY e For Your Notebook
- Methods for Classifying a Triangle by Angles Using its Side Lengths
'_ Theorem 7.2 - Theorem 7.3 | Theorem 7.4
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ms£ZC< 90° and AABC




